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9(a)     (given )BCA ABC AB AC = =  
    (Alternate segment theorem)ABC CAF =  

BCA CAF =  

   

9(b) 90     (Radius perpendicular to tangent)OAE OAF = =  
               (Alternate segment theorem)BAE BCA =  
              (Using part a)BAE CAF =  
              (Both 90 Equal angles)OAB OAC = −  

 
Hence OA bisects angle BAC  
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(b) 
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lg y  0.792 0.672 0.568 0.462 0.342 0.230 

                                            

                                                 Straight line graph 
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